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O IPO O O pingd O O Router(tcl)#foreach ip { puts [exec "ping
$ip"] } Type escape sequence to abort. Sending 5, 100-byte ICMP
Echos to 216.239.122.102, timeout is 2 seconds: !!!!! Success rate is
100 percent (5/5), round-trip min/avg/max = 60/60/64 ms Type
escape sequence to abort. Sending 5, 100-byte ICMP Echos to
206.190.60.37, timeout is 2 seconds: !!!!! Success rate is 100 percent
(5/5), round-trip min/avg/max = 24/25/28 ms Type escape sequence
to abort. Sending 5, 100-byte ICMP Echos to 216.239.113.101,
timeout is 2 seconds: !!!!! Success rate is 100 percent (5/5),
round-trip min/avg/max = 88/89/93 ms Type escape sequence to
abort. Sending 5, 100-byte ICMP Echos to 209.70.46.40, timeout Is 2
seconds: ! Success rate is 100 percent (5/5), round-trip
min/avg/max = 28/28/28 ms Type escape sequence to abort. Sending
5, 100-byte ICMP Echos to 74.125.45.100, timeout is 2 seconds: !!!!!
Success rate is 100 percent (5/5), round-trip min/avg/max =
36/37/40 ms Type escape sequence to abort. Sending 5, 100-byte
ICMP Echos to 157.166.226.25, timeout is 2 seconds: ..... Success
rate is 0 percent (0/5) Type escape sequence to abort. Sending 5,
100-byte ICMP Echos to 68.180.206.184, timeout is 2 seconds: !!!!!
Success rate is 100 percent (5/5), round-trip min/avg/max =
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